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Question 1 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Booklet A (24 x 2 marks)
For each question from 1 to 28, four options are given. One of them is the correct answer.

Jenny bought a pet dog last year. She observed that it has the following characteristics.
A: It eats meat

B: It has hair on its body

C: It barked when Jenny stepped on its tail

D: It gave birth to a litter of puppies last month

Which of the above characteristics show that her dog is a living thing?

A) AandD only
B) B and C only
v C) A CandDonly

D) A,B,CandD

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 7th Jan 2021

Last Modified: N/A

QID#: 25,755,456
Question 2 Primary 4 Science » Primary 4 Science (Term 2) 2 pts
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Study the chan below.
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o
:
- fem

papays

D

Which of the following comectly represenis A, B, C and D7

A B C b

(1) flowering non-flowering moss mango
(2 fhonererineg non-foeearing miushroom f":"'d“
(2] nen-fowering flowering mushroom hibiscus
(4) | nonflowerng | flowering moss FanbLian

A) 1

B) 2

C) 3

v' D) 4

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 7th Jan 2021

Last Modified: N/A

QID#: 25,755,465

Question 3

The diagram below shows how animal S grows.,

yoLng
e {lives In water)

Which group of animals does animal S belong to?

A) fish
B) reptile
C) mammal

v D) amphibian

Primary 4 Science » Primary 4 Science (Term 2)

rricist Skin

el

aduilt
{lives on land)
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Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 7th Jan 2021

Last Modified: N/A

QID#: 25,756,047
Question 4 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Bruce discovered a living thing in his darden and described it as follows
- It lives on tree trunks

- It reproduces by spores

- It feeds on other living things

- It prefers a shady and moist environment

Which of the following living things did Bruce discover?

A)
@ED@
bactera
v B)
fungi
c)
D)
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Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 7th Jan 2021

Last Modified: N/A

QID#: 25,756,071
Qu estion 5 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Four matorials W, X, Y and 7 were tested for their strength. Diffarent
numbsr of weights were placed on each material 1l 1t broks.

— malerial
L~ —
wanden bocks
Mumber of weights added til |
g the material broke |
w By -
[ :{ E’ ]
v 1 )
| z 3 ==

Which of the following must be kapt the same 10 ensure a fair les?

A sive of matanals

B thickress of matenials

G smoothness af weighls
D codour of wooden blocks

v" A) Aand B only
B) CandD only
C) A,BandConly
D) A, BandD only
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Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 6

A) lung
B) heart
C) rib cage

¥ D) stomach

Question Type:
Date Added:

Last Modified:
QID#:

Question 7

Randomize Answers:

Multiple Choice
No

Thu 7th Jan 2021
N/A

25,756,081
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Primary 4 Science » Primary 4 Science (Term 2)

Ali made a model of one of the human body systems as shown below,

nibber hose

plasiic bag
——TOpE
— plastic hose

Muiltiple Choice
No

Thu 7th Jan 2021
N/A

25,756,090

7T

Which part of the human body does the plastic bag rapresent?

Primary 4 Science » Primary 4 Science (Term 2)
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The diagram below shows an uprocied tree after a thunderstorm,

Whiy did the uprooted tree die within a waek?

A) The stem was no longer able to hold the tree upright
B) The leaves of the tree were not able to make food after a week
C) The branches of the tree were not able to spread out the leaves to trap sunlight

¥ D) The roots of the tree were not able to take in water and mineral salts from the soil

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Thu 7th Jan 2021

Last Modified: N/A

QID#: 25,756,105

Question 8 Primary 4 Science » Primary 4 Science (Term 2)

The diagram below shows a magnetic door stopper balow.

door _-_? : wall
i
~Y |
door stopper——— —r
Lo J:,!'_a _
/ %
A
LS ¥
Which of the foliowing can X and Y be made of 50 thal the door can De
kept opan?
x ¥
i steal iron
(2) sleel i el
(3 GO aluminium
9 | magnel | aluminium i
A) 1
v B) 2
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C) 3
D) 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,756,112
Question 9 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Two different magnets X and Y are frealy suspended as shown balow,
The poses of the magnets are |abefled as A, B, C and D

x ¥

A

o o

What will happen whean bolh magnels are brought closer iogether?

v" A) Poles A and C will repel each other
B) Poles B and C will repel each other
C) Poles B and D will attract each other

D) Poles A and D will not react to each other

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Thu 7th Jan 2021

Last Modified: N/A

QID#: 25,756,124

Qu estion 10 Primary 4 Science » Primary 4 Science (Term 2) 2 pts
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Nita has an iron bar and a magnel. She wanis (o magnetisa tha iron bar
using the stroking method,

fron bar

magnel

Which one of the folfcwing shows the comact stroking mathod?

v A) {

e S

B)

C)
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(4

D)
=
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,756,141

Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Question 11
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Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 12

A) AandD only
v' B) BandC only

C) A,BandC only

D) A,B,CandD

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 13
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Weidling set up the following experiment.

I

wireg—

iron nail

TV ceo e

5
oy

-

battorias

Multiple Choice
No

Thu 7th Jan 2021
N/A

25,756,149

Multiple Choice
No

Thu 7th Jan 2021
N/A

25,756,173

She Iried o use the iron nall 1o pick up the paper clip bul was unable to do
an, Why was the iren nail not able 1o attract the paper clip?

A) There was only one nail in the set-up
B) The iron nail was not a magnetic material
C) The batteries were connect4ed in the wrong direction

v' D) The paper clip was made of a non-magnetic material

Primary 4 Science » Primary 4 Science (Term 2)

Andrea made some statements about the differences between a grasshopper nymph and an adult
grasshopper. Which of the following statements are correct?

A A grasshopper nymph is bigger than an adult grasshopper

B A grasshopper nymph cannot reproduce but an adult grasshopper can reproduce

C A grasshopper nymph does not have wings but an adult grasshopper has wings

D A grasshopper nymph does mot feed at all but an adult grasshopper feeds on leaves

Primary 4 Science » Primary 4 Science (Term 2)
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Study the chart below.

Animals

Does the
young moult?

D

Which letler represents thd cockroach?

A) A
B) B
C) C
v D) D
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,756,176
Question 14 Primary 4 Science » Primary 4 Science (Term 2) 2 pts
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The graph below shows the number of days in each siage of the life
cycle of an insect which ives in the water.

Days 14 1
12 A
10 '
8
B -
4
Z +
1] -
Egg Nymph Adut
Slages

Which of the following information obtained from the graph Is comect?

A) The insects lifespan is less than 3 weeks
B) The insect takes 8 days to become a nymph
¥v' C) The insect lives in the water for 12 days as a nymph

D) It takes 24 days to become an adult after the egg is hatched

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,756,189
Question 15 Primary 4 Science » Primary 4 Science (Term 2) 2 pts
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Wei Ming placed some beans in a tray and observed the growth,

He recorded his obsarvations balow.

Two green leaves appear.

A tiny shoot grows upwards.

Seed leaves dry and drop off.

The bean absorbs water and swelis up.

A root grows downwards towards the presence of water,

mg o

Which of the following shows the comect order of growth?

A) AoB—-E—>C—D
B) BA—-C—->D—E
C) C-B—-E—->D-—>A

v D DE-BoSASC

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 7th Jan 2021

Last Modified: N/A

QID#: 25,756,200
Question 16 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

hMike wanted 1o find out i the growth of bean seeds will be affected by
temperature. He placed the same number of bean seads in diffensnt
contalners with molst cotton wool. He then placed the contaimers @
focations with different termperalures. After 3 days, he counted the nuenbar
of seeds thal grew arnd recorded his resalts as shown below,

TempﬂfmTré ("C}) “Number of seeds grown

10 ] [

. 20 r =i
I 35 18
I 1 ]

What could Mike conclude from the table above?
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A) Beans seeds could not grow above 30°C
B) Beans seeds not grow at any temperature
v C) The best temperature for beans seeds to grow was 35°C

D) Number of seeds grown increased as temperature increased

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 7th Jan 2021

Last Modified: N/A

QID#: 25,756,217
Question 17 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Raj poured 200 mi of water into each container as shown below.

Raj concluded that water does nol

A) occupy space
B) have a definite mass
¥ C) have a definite shape

D) have a definite volume

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 7th Jan 2021

Last Modified: N/A

QID#: 25,756,234
Question 18 Primary 4 Science » Primary 4 Science (Term 2) 2 pts
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Study the table below.
[ Has a fixed volume |
Has a fixed shape x t
Has no fixed shape Y

Which of the following represents X and Y in the table above?

A air

B ice

C heat
D water

A) Aand Conly
B) AandD only
C) BandConly

v' D) BandD only

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Thu 7th Jan 2021

Last Modified: N/A

QID#: 25,756,242
Question 19 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Two similar beakers ane used in the following experment. Beaker A s filled
with marbles io the 150 cm® mark. Beaker B has 150 cm? of water.

beaker A baaker B

What will the water level be in beaker A after the waler in beaker B s
compiately poured into beaker A7

A) 100cm3
B) 150cm3
v' C) 260cm3

D) 300cm3
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Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 7th Jan 2021

Last Modified: N/A

QID#: 25,756,249

Question 20 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Lok al the pictune balow.
é lighted bukb

;.} ~
b 1oy dog

Which one of 1he following explains why Sally can see the oy dog?
direction af ight —3s—x0

v A)

B)

C)
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Date Added:

Last Modified:
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Question 21

A) AandC
v B) AandD
C) BandC
D) BandD

Question Type:
Randomize Answers:
Date Added:

Carl r.:d“!_:*

Multiple Choice
No

Thu 7th Jan 2021
N/A

25,756,258

Car A -

T-.
b- CarC

Multiple Choice
No
Thu 7th Jan 2021

ClassMarker - Manage Test

Primary 4 Science » Primary 4 Science (Term 2)

The diagram balow shows four cars A, B, © and D. They are Iravelling in
the dirgciiens shown by the amows,

B o

F gl iigety

Which two drivers can see each other in the mimor?
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Last Modified: N/A
QID#: 25,756,265
Question 22 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Which of the following do not give out light but can be seen because they reflect light?

A) sun, star, moon
¥ B) earth, man, tree
C) lightning, candle, oil lamp

D) firefly, fireworks campfire

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Thu 7th Jan 2021

Last Modified: N/A

QID#: 25,756,277

Qu estion 23 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

https://www.classmarker.com/a/tests/test/?test_id=1634842&trk=edittest_inrow_edit 18/35


https://www.classmarker.com/a/tests/qb/manage/?test_id=1634842&question_id=25756265
https://www.classmarker.com/a/tests/qb/manage/?test_id=1634842&question_id=25756265&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1634842
https://www.classmarker.com/a/tests/qb/manage/?test_id=1634842&question_id=25756277
https://www.classmarker.com/a/tests/qb/manage/?test_id=1634842&question_id=25756277&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1634842

8/6/2021

v

A

)

’ A
'O

B o\

ClassMarker - Manage Test

Tre diagram below shows the shapes of the shadowa produced when o
pd belwean a screen and & lorch, The objects
Show downloads ot me objects aliows most of the light o pass

TTUG.

e R il R e [N FEmnde)
aou— AN AN .|

N T
¥ e N e 4
i

A
P
y

S

P S

p i g Jrf%"l

& W=

L) r - '. II
i,

A hodi wiars. mada kn the cenire of the squane object ard i was thon placed
in froni of the screen ogethar with the idangular objact, as shown bakow,

| ECresn

— e
\f?:-‘f=-"
i)

- .-I-r

Which of the follewing shows the shadow protuced on the screen?

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Thu 7th Jan 2021
Last Modified: N/A

QID#: 25,756,288

https://www.classmarker.com/a/tests/test/?test_id=1634842&trk=edittest_inrow_edit

19/35



8/6/2021 ClassMarker - Manage Test

Qu estion 24 Primary 4 Science » Primary 4 Science (Term 2)

Hendri walked In a straight line and al the same speed from A 1o C as
shown below, He was directly under the lamp at B. The distance
betwveen A and B is the same as the distance between B and C.

Handri

A B c

Which one of the following graphs correcily shows how the length of
Hendn's shadow on the ground changed during his walk from A o B?

A)

Length of shadow ;
F 3
A B H; ndri's
position
v B)
Lﬁlngth of shadow
—p=
A B Hendri's
position
c)

https://www.classmarker.com/a/tests/test/?test_id=1634842&trk=edittest_inrow_edit
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Length of shadow

f

L.
L
23
A B Hendri's
position
Length of shadow
F
=
A B Hendri's
posilion
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,756,407
Question 25 Primary 4 Science » Primary 4 Science (Term 2) 0.5 pts
Booklet B

This section is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.
Grading: This question type is not graded on this system and will not affect the final score as it

https://www.classmarker.com/a/tests/test/?test_id=1634842&trk=edittest_inrow_edit 21/35


https://www.classmarker.com/a/tests/qb/manage/?test_id=1634842&question_id=25756407
https://www.classmarker.com/a/tests/qb/manage/?test_id=1634842&question_id=25756407&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1634842

8/6/2021

ClassMarker - Manage Test

was designed in such a way that it requires manual assistance.

Th: table baltw shows Dow some Bnimals ane claselfiad.

Question 26
Q:

Accepted answers:

¥ mammals

Question Type: Free Text

Last Modified: N/A

Question 27

Question Type: Essay

Last Modified: N/A

Date Added: Thu 7th Jan 2021

QID#: 25,756,422

Date Added: Thu 7th Jan 2021

QID#: 25,756,427

hwile alaphant
{8} Which group of living things do animals P and Q belong o7 [1]
P-
Accepted answers:
v reptiles
Question Type: Free Text
Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,756,421

Primary 4 Science » Primary 4 Science (Term 2)

Primary 4 Science » Primary 4 Science (Term 2)

State one difference in the movement of a crocodile and a bat.
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Correctly answered feedback

A crocodile can crawl while a bat can fly.

Incorrectly answered feedback
A crocodile can crawl while a bat can fly.

Question 28 Primary 4 Science » Primary 4 Science (Term 2) Opts

Different matenals are used to make the lamp cover and the stand of the
sooavter 4 shown below,

lamp covar

Mame the material and the property that makes it suitabls for mmaking the [2]
part of the object indicated abova.

- Mame of material Property ]
lamp cover
3 i
gland |
|
Question Type: Essay
Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,756,505

Correctly answered feedback

;';lasﬁ; transparent
Metal; Strong

Incorrectly answered feedback

;';laﬁ; transparent
Metal; Strong

Question 29 Primary 4 Science » Primary 4 Science (Term 2) 1 pt
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The table below shows the amount of undigested food in each part af the

Accepted answers:

(@) What s the amount of undizested food in Y7

digestive system.
Parl of digesiive smail large
syshoin mouth | gillet | stomach gl Sl il
Amound of |
i

1]

v 10g
v 10g
v 10

Question 30

Question Type: Free Text

Date Added: Thu 7th Jan 2021
Last Modified: N/A

QID#: 25,756,515

Primary 4 Science » Primary 4 Science (Term 2)

What happens to the food the has been digested?

Question Type: Essay

Date Added: Thu 7th Jan 2021
Last Modified: N/A

QID#: 25,756,528

Correctly answered feedback
Digested food is absorbed into the bloodstream

Incorrectly answered feedback
Digested food is absorbed into the bloodstream

Primary 4 Science » Primary 4 Science (Term 2)

Question 31

Why does the amount of undigested food remain the same at the gullet?

Question Type: Essay

Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,756,539

[]
https://www.classmarker.com/a/tests/test/?test_id=1634842&trk=edittest_inrow_edit
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Correctly answered feedback
Digestion does not take place in the gullet

Incorrectly answered feedback
Digestion does not take place in the gullet

Primary 4 Science » Primary 4 Science (Term 2)

Question 32

Some parts of plants A and B were cut off as shown balow,

plani &

plant B

Which plant A or B would survive longer? Explain your answer,

Question Type: Essay

Date Added: Thu 7th Jan 2021
Last Modified: N/A

QID#: 25,756,557

Correctly answered feedback
A. because there is still 2 leaves for A to make food and a wild be able to grow again

Incorrectly answered feedback
A. because there is still 2 leaves for A to make food and a wild be able to grow again

Primary 4 Science » Primary 4 Science (Term 2)

Question 33

https://www.classmarker.com/a/tests/test/?test_id=1634842&trk=edittest_inrow_edit
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Harun placed & rod belween bwd iron bars A and B a5 shown below, When
the switches were closed, the rod moved towsards iron bar A,

swilch

% wire
rod

iron bar A iromn bar B

{a) Explatn why the rod moved lowards iron bar A when the swilches were (1]
closed,

Question Type: Essay

Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,756,622

Correctly answered feedback

Iron bar A has more magnetic strength as it has more coils of wire around it than B

Incorrectly answered feedback
Iron bar A has more magnetic strength as it has more coils of wire around it than B

Question 34 Primary 4 Science » Primary 4 Science (Term 2) 1 pt

State the material that the rod can be made of in order for it to be attracted to the iron bars.

Accepted answers:
¥ Iron
v steel
v nickel

v’ cobalt

Question Type: Free Text

Date Added: Thu 7th Jan 2021

Last Modified: Thu 7th Jan 2021

QID#: 25,756,633
Question 35 Primary 4 Science » Primary 4 Science (Term 2) 0 pts
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What could be done for the rod to move towards iron bar B when the switches were closed?

Question Type: Essay

Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,756,643

Correctly answered feedback
Having more coils of wire around iron B

Incorrectly answered feedback
Having more coils of wire around iron B

Qu estion 36 Primary 4 Science » Primary 4 Science (Term 2) 1 pt

Chrls placed 40 meakworms in the centra of a tray as shown inthe diagram
below. An egual amount of differant types of food was placed al each cormer

of the Tray,
n
_ﬁt -':_.____.h:' p— 1T T
CATTOH
s

ff— wo
r.. _J

Afier a while, the pumber of meahworms at each comer was countad, Tha
ragulls wara recorded as shown below.

[ apple | bread | camof €ag
| Number of meelworms | 10 _a 4 2

m—— eI

{a) What variable was changed in this axperiment? 1]

Accepted answers:

v’ food

Question Type: Free Text

Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,756,650

Primary 4 Science » Primary 4 Science (Term 2) 0 pts

Question 37

Which food is most suitable for them to continue their life cycle? Give a reason to support your answer.
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Question Type: Essay

Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,756,731

Correctly answered feedback
Bread. Bread attracts the most mealworms.

Incorrectly answered feedback
Bread. Bread attracts the most mealworms.

Question 38 Primary 4 Science » Primary 4 Science (Term 2)

After some time, Doris noticed that only a few mealworms were still moving. What could have
happened to the rest?

Question Type: Essay

Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,756,737

Correctly answered feedback
They develop into pupas

Incorrectly answered feedback

They develop into pupas

Qu estion 39 Primary 4 Science » Primary 4 Science (Term 2)

The diagram below shows a young plani,

(a) Which par A, B, C or D rapresents the sead leaf? 1]

A) A
v ' B) B

c) C

https://www.classmarker.com/a/tests/test/?test_id=1634842&trk=edittest_inrow_edit

0 pts

1 pt
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Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,756,742

Question 40

State one function of a seed leaf

Question Type: Essay

Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,756,746

Correctly answered feedback
It provides food for the young plants to grow.

Incorrectly answered feedback
It provides food for the young plants to grow.

Question 41

ClassMarker - Manage Test

Primary 4 Science » Primary 4 Science (Term 2)

Primary 4 Science » Primary 4 Science (Term 2)

#hat stage of its cycle is plant A in? Give a peason for your answer,

seed

aduilt plant

young plant

Question Type: Essay

Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,756,752

Correctly answered feedback
Adult stage. Only adult plants have flowers

Incorrectly answered feedback

Mgzt
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| Adult stage. Only adult plants have flowers

Question 42 Primary 4 Science » Primary 4 Science (Term 2) 0 pts

Rosy fts a balioon over the mouth of a plastic botfle. She blows Into the
balloon, bul is not able o inflate the balloon 1o fill the bottle up fully.

{a) Explain why she cannot inflale the balioon to fill the botile up fully,

Question Type: Essay

Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,756,758

Correctly answered feedback
Air in the bottle occupies space and cannot escape

Incorrectly answered feedback
Air in the bottle occupies space and cannot escape

Question 43 Primary 4 Science » Primary 4 Science (Term 2) 0 pts

Using the same bottle and balloon, suggest what she can do to inflate the balloon to fill the bottle up
fully.

Question Type: Essay

Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,756,764

Correctly answered feedback
Drilling a small hole so the air can escape

Incorrectly answered feedback
Drilling a small hole so the air can escape
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Qu estion 44 Primary 4 Science » Primary 4 Science (Term 2)
Match the options below:

Rogy wanted 1o classify a list of dems based on the fiow chart as shown
babow

Matier

Dies it have &
definite shapa?

Dies it have &

{c) Classify the following items accordinaly.

Clue Match
X oxygen
Y rain

Y4 ice cube

Question Type:
Grade style:
Shuffle Mode:
Date Added:
Last Modified:
QID#:

Matching

Full points if all answers are correct

Shuffle Matches Only
Thu 7th Jan 2021
N/A

25,756,773

Primary 4 Science » Primary 4 Science (Term 2)

Question 45

Which one of the following is not a matter? Why?

Jelly, Shadow, Clouds, Plasticine

Question Type: Essay

Date Added: Thu 7th Jan 2021
Last Modified: N/A

QID#: 25,756,780
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Question 46

ClassMarker - Manage Test

Correctly answered feedback
Shadow. It does not have mass and does not occupy space.

Incorrectly answered feedback
Shadow. It does not have mass and does not occupy space.

Lok at the diagram ek,

Last Modified: N/A

Question 47

Question Type:

(8} How is the girl's shadow foomed on the wall?

Question Type: Essay
Date Added: Thu 7th Jan 2021

QID#: 25,756,785

Correctly answered feedback
When the girl blocks the path of light

Incorrectly answered feedback
When the girl blocks the path of light

What can the girl do to form to shadows on the wall instead of one?

A) move nearer to the light source
B) move further away from the light source
C) stand at the side of the wall instead of the centre

v' D) use two light sources shining from different directions

Multiple Choice

Primary 4 Science » Primary 4 Science (Term 2)

light mErm

[1]

Primary 4 Science » Primary 4 Science (Term 2)
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Randomize Answers: No

Crervl weants 1o find out howr much light can pass through the matesials P, Q)
and A, Each matenal waes paced o Bebwesn @ tonch and 2 light Sensor
connectad to 3 datalogger,

i light eenzor connected
- o a datslogges

terch —— "] -

miaterial

She ecorded the esulls as shown balow.

- Matarials Amount of light {units)
F il "
Q 45
R 154

{a) Bazed on the lable abowe, what can Devl conclude sbout matedal OF

Question Type: Essay

Date Added: Thu 7th Jan 2021
Last Modified: N/A

QID#: 25,756,800

Correctly answered feedback

Q is a translucent object

Incorrectly answered feedback
Q is a translucent object

reason for your answer

Question Type: Essay

Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,756,806

Correctly answered feedback
P, because light cannot pass through it.

https://www.classmarker.com/a/tests/test/?test_id=1634842&trk=edittest_inrow_edit

Date Added: Thu 7th Jan 2021

Last Modified: N/A

QID#: 25,756,796

Question 48 Primary 4 Science » Primary 4 Science (Term 2)

i

Question 49 Primary 4 Science » Primary 4 Science (Term 2)

Which material P, Q or R should Devi choose to make a curtain to have the darker bedroom? Give a

0 pts

0 pts
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Incorrectly answered feedback
P, because light cannot pass through it.

Primary 4 Science » Primary 4 Science (Term 2)

Question 50

Fhona used a torch 1o shine on a wooden box a5 shown below, A shadow
of the bex was lermed on the screen,
@ml

~ »

* -
distance, d, babwaen
lorch and wooden box

wooden box

{a) Fiona measured the height of the shadow formed on the screen as she
mved the forch iowards the wooden box. She retorded the reswis in

the tabile 8% shown below,
distance, d, batwean torch | Helght, H, of the shadow
and woodan box {cm) formed on the screen (cm)
| 15 g
I 12 10
a — 12
B H

State the height, H, of the shadow formed when the distance, d, [1]
bebwaan the forch and the wooden box is 6 cm.

H: cm

Accepted answers:
v 14cm

v 14 cm

v 14

Question Type: Free Text

Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,756,816

Primary 4 Science » Primary 4 Science (Term 2)

Question 51

Without moving the torch, suggest two ways that Fiona could do to make the height of the shadow
formed on the screen to be less than 8 cm

Essay
Thu 7th Jan 2021

Question Type:
Date Added:

https://www.classmarker.com/a/tests/test/?test_id=1634842&trk=edittest_inrow_edit
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Last Modified: N/A
QID#: 25,756,826

Correctly answered feedback

1. Move the screen nearer to the wooden box
2. Move the wooden box nearer to the screen

Incorrectly answered feedback

1. Move the screen nearer to the wooden box
2. Move the wooden box nearer to the screen

Question 52

shadow formed on the screen?
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Correctly answered feedback

decreases

Incorrectly answered feedback

decreases

Primary 4 Science » Primary 4 Science (Term 2)

What is the relationship between the distance of the torch and the wooden box and the height of the

As the distance between the torch and the wooden box increases, the height of the shadow

As the distance between the torch and the wooden box increases, the height of the shadow
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